2804 Commands and Responses

The commands shown are only valid in the remote mode of operation. Commands received whilst in stream mode will be ignored with the exception of the ‘#’ and ‘?’ commands as detailed below

Error responses may replace the responses shown in the following circumstances


ER1
Command not recognised


ER2
Command parameter error


ER3
Command not accepted

RAD<CR>
Read Alarm Delays

Response
RADabcd<CR><LF>

Where
a is the Relay GPS delay


b is the Relay control delay


c is the Auxiliary GPS delay


d is the Auxiliary control delay


and a,b,c,d are hexadecimal values coded as follows


‘0’ = 1 second delay


‘1’ = 2 second delay


‘2’ = 5 second delay


‘3’ = 10 second delay


‘4’ = 20 second delay


‘5’ = 50 second delay


‘6’ = 100 second delay


‘7’ = 200 second delay


‘8’ = 500 second delay


‘9’ = 1000 second delay


‘A’ = 2000 second delay


‘B’ = 5000 second delay


‘C’ = 10000 second delay


‘D’ = 20000 second delay


‘E’ = 50000 second delay


‘F’= 65000 second delay

RCB<CR>
Read Control Bits (IRIG Timecode)

Response
RCBabcdef<CR><LF>

Where
abcdef is a six digit hexadecimal number that is coded into the allocated control bit area of the IRIG timecode frame (index 50-78 inc.). Note IRIG code index positions 54,64 and 74 are coded as 0. Also data in the IRIG frame is coded LSB first so that ‘f’ bit 0 is index 50 and ‘a’ bit 3 is index 78

RCM<CR>
Read Current Mode and Status

Response
RCMabcdefghijk<CR><LF>

Where
abcdefghijk is a 11 digit hexadecimal value whose bits relate to the current mode and status

a bit 3 = Relay alarm output state – 0 = relay off (alarm) ; 1 = relay on

a bit 2 = Auxiliary alarm state – 0 = aux. alarm o/p high ; 1 = aux. alarm o/p low

a bit 1 = 0 - not used

a bit 0 = Fault status – 1 = Fault

b bit 3 = Main Power input fault – 1 = fault

b bit 2 = Standby Power input fault – 1 = fault

b bit 1 = Oscillator Supply fault – 1 = fault

b bit 0 = Over temperature – 1 = fault (>76.7(C)

c bit 3 = +12 volt supply fault – 1 = fault

c bit 2 = -12 volt supply fault – 1 = fault

c bit 1 = Oscillator Reference fault – 1 = fault

c bit 0 = DAC output fault – 1 = fault

d bit 3 = Rubidium Comms fault – 1 = fault (LPFRS only)

d bit 2 = Rubidium Limit fault – 1 = fault

d bit 1 = Rubidium Lock fault – 1 = fault

d bit 0 = ADC Error – 1 = fault

e bit 3 = 10MHz clock fault – 1 = fault

e bit 2 = 1Hz clock fault – 1 = fault

e bit 1 = Rubidium crystal voltage fault – 1 = fault

e bit 0 = Rubidium lamp voltage fault – 1 = fault

f bit 3 = GPS receiver comms fault – 1 = fault

f bit 2 = GPS receiver antenna status – 1 = antenna open or short

f bit 1 = GPS receiver navigating status – 1 = navigating

f bit 0 = GPS receiver time update inhibit status – 1 = inhibit

g bit 3 = GPS receiver 1ppS timeout fault – 1 = fault

g bit 2 = 0 - Not used

g bit 1 = 0 - Not used

g bit 0 = 0 - Not used

h bit 3 = Time set from GPS – 1 = true

h bit 2 = Time set from Panel – 1 = true

h bit 1 = Time set from Serial – 1 = true

h bit 0 = Time set from RTC – 1 = true

i bit 3 = 0 – not used

i bit 2 = Frequency control – 1 = on

i bit 1 = Frequency control inhibit – 1 = inhibit

i bit 0 = Panel lock status – 1 = locked

j bit 3 = 0 – not used

j bit 2 = RTC fault – 1 = fault

j bit 1 = Non volatile memory fault – 1 = fault

j bit 0 = Display fault – 1 = fault

k bit 3 = Rubidium serial port fault – 1 = fault

k bit 2 = Com 2 serial port fault – 1 = fault

k bit 1 = Com 1 serial port fault – 1 = fault

k bit 0 = GPS serial port fault – 1 = fault

RDS<CR>
Read Daylight Saving Time Parameters

Response
RDSms,ddmmyyyy,eennzzzz<CR><LF>


Where
m = 2 – Automatic mode



m = 1 – Manual mode



m = 0 – Off



s = 2 - +2 hour time shift



s = 1 - +1 hour time shift



ddmmyyyy is the start date of summer (daylight saving) time



eennzzzz is the end date of summer (daylight saving) time

REG<CR>
Read Elapsed GPS time

Response
REGyyyymmddhhmm<CR><LF>

Where
yyyymmddhhmm is the year, month, day, hours and minutes of the date and time that the GPS receiver acquired a fix. This indicates the time that the unit has had continuous GPS reception. If the GPS receiver is not doing position fixes when an REG<CR> command is received then an ER3 response is generated.

REO<CR>
Read Event Origin

Response
REOa<CR><LF>


Where
a is a hexadecimal number with bit assignments as follows

a bit 3 = 0 – Not used



a bit 2 = 0 – Not used



a bit 1 = Event time source – 0 = UTC ; 1 = Local



a bit 0 = Event source – 0 = Pulse ; 1 = Serial

REP<CR>
Read Elapsed Power time

Response
REPyyyymmddhhmm<CR><LF>

Where
yyyymmddhhmm is the year, month, day, hours and minutes of the date and time that the unit was last reset. A reset will be generated on power up, a reset command from the front panel or interface command (@Z)

RET<CR>
Read Event Time

Response
RETyyyymmddwhhmmss.ffffff<CR><LF>

Where
yyyy = Year (2000 to 2999 decimal)


mm = Month (01 to 12 decimal)


dd = Day of month (01 to 31 decimal)


w = Day of week (0 to 6 decimal – 1=Monday)


hh = Hours (00 to 23 decimal)


mm = Minutes (00 to 59 decimal)


ss.ffffff = Seconds (00.000000 to 59.999999)

N. B. When no event is stored the response ER3<CR><LF> is sent. Reading the event time with this command removes it from the stored event table. The event that is read with this command is the most recent event recorded.

N.B. When the event origin is changed from serial to pulse or from pulse to serial an event may be generated by the change.

RFD<CR>
Read Frequency Divisor

Response
RFDa<CR><LF>


Where
a (0 to 7 inc.) represents the frequency outputs as follows



a = 0 – 10 MHz


a = 1 – 5 MHz



a = 2 – 2.5 MHz


a = 3 – 1.25 MHz



a = 4 – 1 MHz


a = 5 – 500 KHz



a = 6 – 200 KHz



a = 7 – 100 KHz

N. B. Where a synthesiser is fitted, this frequency output is used internally and the frequency is set to 1MHz (a=4).

RFM<CR>
Read Fault Mask

Response
RFMa<CR><LF>


Where
a has the fault mask with bit assignments as follows



a bits 3,2 – not used



a bit 1 = AC power low – 1 = masked



a bit 0 = DC power low – 1 = masked

RFS<CR>
Read Frequency State

Response
RFSannnn,cccc<CR><LF>


Where
a = control index 0-8 inc.



nnnn = last DAC change (hexadecimal)



cccc = control count (hexadecimal) 0000-7FFF

RGL<CR>
Read GPS Levels

Response
RGLdd,dd,dd,dd,dd,dd,dd,dd<CR><LF>

Where
dd is the relative signal level for the satellite shown in the RGN response

N.B. This is a variable length string that is dependant on the number of satellites acquired or being searched for by the GPS receiver. There will be a maximum of 8 data values and a minimum of 0 data values. The data is updated every 10 seconds.

RGM<CR>
Read GPS Mode

Response
RGMa<CR><LF>


Where
a denotes the GPS receiver mode



a = 0 – Land (default)



a = 1 – Sea



a = 2 – Air



a = 3 – Static

RGN<CR>
Read GPS PRN's

Response
RGNpp,pp,pp,pp,pp,pp,pp,pp<CR><LF>


Where
pp are the satellite PRN

N.B. This is a variable length string that is dependant on the number of satellites acquired or being searched for by the GPS receiver. There will be a maximum of 8 data values and a minimum of 0 data values. The data is updated every 10 seconds.

RGP<CR>
Read GPS Position

Response
RGPaabb.bbbcdddee.eeefhhhhPnn<CR><LF>


Where
aa = latitude degrees (00 to 89 decimal)



bb.bbb = latitude minutes (00.000 to 59.999 decimal)



c = latitude hemisphere (N or S)



dd = longitude degrees (00 to 89 decimal)



ee.eee = longitude minutes (00.000 to 59.999 decimal)



f = longitude hemisphere (E or W)



hhhh = height in metres (0000 to 9999 decimal)



P = separator (P)



nn = PDOP (00 to 99 decimal)

RGS<CR>
Read GPS Status

Response
RGSabcdefgh<CR><LF>

Where
abcdefgh is an 8 digit hexadecimal number with bit assignments and values as follows

a = 0 not used



b = 0 – Doing position fixes



b = 1 – No GPS time



b = 2 – Initialisation fault



b = 3 – PDOP too high



b = 8 – No usable satellites



b = 9 – Only one usable satellite



b = A – Only two usable satellite



b = B – Only three usable satellite



b = C – The chosen satellite is unusable



c = 0 – Antenna OK



c = 1 – Antenna line fault (open or short)



d = 0 – Battery supported RAM OK



d = 1 – Battery supported RAM not valid at start-up



ef = Receiver Identity (00 to FF hexadecimal)



g = 0 – Not used



h bit 3 = Stored Almanac Status – 0 = complete and current



h bit 2 = 0 – Not used



h bit 1 = Real time Clock Status – 1 = Not available



h bit 0 = 0 – Not used

RGV<CR>
Read GPS Velocity

Response
RGVnnnNeeeEuuuU<CR><LF>


Where
nnn = North velocity component M/s (000 to 999 decimal)



N = separator (N)



eee = East velocity component M/s (000 to 999 decimal)



E = separator (E)



uuu = Up velocity component M/s (000 to 999 decimal)



U = separator (U)

RGW<CR>
Read Week Number

Response
RGWwwww<CR><LF>


Where
wwww = GPS week number (0000 to FFFF hexadecimal)

RH1<CR>
Read Frequency History 1

Response
RFH1aaaa,bbbb,cccc,dddd,eeee,ffff,gggg,hhhh<CR><LF>

Where
aaaa,bbbb etc. are 4 digit hexadecimal numbers denoting the DAC value. The 8 readings are the last 8 values with aaaa being the most recent (current value) and hhhh being the oldest. The data is set to 0 when the unit is reset.

RH2<CR>
Read Frequency History 2

Response

RFH2aaaa,bbbb,cccc,dddd,eeee,ffff,gggg,hhhh,iiii,jjjj,kkkk,llll<CR><LF>

Where
aaaa,bbbb etc. are 4 digit hexadecimal numbers denoting the average DAC value of the last 8 values. The 12 readings are the values stored at midnight for the last 12 days with aaaa being the most recent and llll being the oldest. The data is set to 0 when the unit is reset.

RIT<CR>
Read Internal Temp

Response
RITaa.a<CR><LF>


Where
aa.a is the internal temperature of the unit (00.0 to 99.9 (C)

RLF<CR>
Read Last Fault(s)

Response
RLFabcdefghijk<CR><LF>

Where
a is the current alarm status

bcdefghijk is a 10 digit hexadecimal value whose bits relate to the mode and status at the time of the last fault

The data abcdefghijk is identical to that in the RCM command as detailed above.

RLS<CR>
Read Leap Seconds

Response
RLSyyyymmddoonn,cc,mf<CR><LF>


Where
yyyymmdd = date of next leap second



oo = Previous leap second offset (00 to FF hexadecimal)



nn = Next leap second offset (00 to FF hexadecimal)



cc = Current leap second offset (00 to FF hexadecimal)



m = Mode – 0 = ITU (59,60) ; 1 = non ITU (59,59)



f bit 3 = Not used



f bit 2 = Leap second completed



f bit 1 = Leap second active



f bit 0 = Leap second pending

N.B. This data is only valid after receipt from the GPS receiver. This can take up to 15 minutes after a fix is obtained. When the previous and next leap second offsets are the same, a leap second is not currently scheduled, in this case the date information should be ignored.

RLT<CR>
Read Local Time

Response
RLTyyyymmddwbbbhhmmss<CR><LF>


Where
yyyymmdd = Date (20000101 to 29991231)



w = Day of week (0 to 6 ; 1 = Monday)



bbb = Day of year (001 to 366 decimal)



hhmmss = Time of day (000000 to 235959)

RNL<CR>
Read Next Local Time

Response
RNLyyyymmddwbbbhhmmss<CR><LF>


Where the data is the same as the RLT command above


N.B. The response to this command is delayed until the beginning of the second following the receipt of the command. This can result in a delay of up to one second but does allow more accurate timing via the serial interface. If another command is received whilst this response is pending then this response is cancelled and the response to the second command is made.

RNU<CR>
Read Next UTC Time

Response
RNUyyyymmddwbbbhhmmss<CR><LF>

Where the data format is the same as the RNL command above but the data contains the UTC time. The constraints of the RNL command also apply to this command.

ROV<CR>
Read Oscillator Voltage

Response
ROVvvvv<CR><LF>

Where
vvvv is a four digit hexadecimal number 0000 to FFFF representing the current DAC value

RPC<CR>
Read ppS Configuration

Response
RPCab<CR><LF>


Where
ab is a 2 digit hexadecimal number with bit assignments as follows

a bit 3 = 0 – Not used



a bit 2 = 0 – Not used



a bit 1 = Timing Pulse A Length 0 = 500mS ; 1 = 100uS



a bit 0 = Timing Pulse A Mode 0 = Gated ; 1 = Continuous



b bit 3 = 0 – Not used



b bit 2 = 0 – Not used



b bit 1 = Timing Pulse B Length 0 = 500mS ; 1 = 100uS



b bit 0 = Timing Pulse B Mode 0 = Gated ; 1 = Continuous

RRD<CR>
Read Remote Display Configuration

Response
RRDa<CR><LF>


Where
a is a hexadecimal number with bit assignments as follows



a bit 3 = 0 – Not used



a bit 2 = Time select – 0 = UTC ; 1 = Local



a bit 1 = 0 – Not used



a bit 0 = Type select – 0 = Rapco ; 1 = LEC

RS1<CR>
Read Serial 1 Configuration

Response
RS1abc<CR><LF>


Where
abc is a 3 digit hexadecimal number with bit assignments as follows



a bit 3 = 0 – Not used



a bit 2 = Baud rate msb



a bit 1 = Baud rate lsb



a bit 0 = Parity type – 0 = Odd ; 1 = Even



b bit 3 = Parity state – 0 = Disabled ; 1 = Enabled



b bit 2 = Number of stop bits – 0 = 1 stop bit ; 1 = 2 stop bits



b bit 1 = 1 – Not used



b bit 0 = Number of data bits – 0 = 7 data bits ; 1 = 8 data bits



c bit 3 = 0 – Not used



c bit 2 = Mode – 0 = Remote ; 1 = Stream



c bit 1 = Stream mode time select – 0 = UTC ; 1 = Local



c bit 0 = Stream mode data – 0 = Time + status – 1 = Time only


Baud rate 00 = 1200 baud ; 01 = 2400 baud ; 10 = 4800 baud ; 11 = 9600 baud

N.B. – The stream mode time select and data bits are common to both serial 1 and serial 2 interfaces.

RS2<CR>
Read Serial 2 Configuration

Response
RS2abc<CR><LF>

Where
abc is a 3 digit hexadecimal number with bit assignments as described above for Serial 1 port

RSF<CR>
Read Synthesiser Frequency

Response
RSFaaaaaaaaaa<CR><LF>

Where
aaaaaaaaaa is a 10 digit decimal number representing the current synthesiser frequency with a resolution of .01 Hz.

RSV<CR>
Read Software Version

Response
RSVaaaaaaaa,nn.nn;ss.ss<CR><LF>


Where
aaaaaaaa is an alphanumeric string denoting the 2804 s/w



nn.nn is the GPS receiver main s/w



ss.ss is the GPS receiver DSP s/w

RTC<CR>
Read Timecode Configuration

Response
RTCab<CR><LF>


Where
a = Time source – 0 = GPS ; 1 = Local



b = 4 – SMPTE



b = 3 – IRIG A



b = 2 – XR3 2137 (1KHz)



b = 1 – IRIG B



b = 0 – XR3 (250 Hz)

RTD<CR>
Read Timing Delay

Response
RTDaa<CR><LF>


Where
aa is a 2 digit hexadecimal number denoting the timing delay

The value (0 to 255) represents the delay in 25nS units with the nominal value of 80H (128) for 0 delay giving a total delay variation of (3125nS.

RTZ<CR>
Read Time Zone

Response
RTZshhmm<CR><LF>


Where
shhmm is the time offset between UTC and local time



s = sign digit (‘+’ or ‘-‘)



hh = Hours (00 to 23 decimal)



mm = Minutes (00 to 59 decimal)

RUT<CR>
Read UTC Time

Response
RUTyyyymmddwbbbhhmmss<CR><LF>

Where the data structure is the same as described for the RLT command above.

RVA<CR>
Read Voltage A (Main power)

Response
RVAxx.x<CR><LF>


Where xx.x is the main power voltage (unregulated)

RVB<CR>
Read Voltage B (Standby power)

Response
RVBxx.x<CR><LF>


Where xx.x is the standby power voltage

RVC<CR>
Read Voltage C (Oscillator supply)

Response
RVCxx.x<CR><LF>


Where
xx.x is the oscillator supply voltage

RVD<CR>
Read Voltage D (Logic supply)

Response
RVDx.xx<CR><LF>


Where
x.xx is the logic supply voltage

RVE<CR>
Read Voltage E (+12V supply)

Response
RVExx.x<CR><LF>


Where
xx.x is the +12V nominal supply voltage

RVF<CR>
Read Voltage F (-12V supply) 

Response
RVFxx.x<CR><LF>


Where
x.xx is the –12V nominal supply voltage

RVG<CR>
Read Voltage G (Osc reference) 

Response
RVGx.xx<CR><LF>


Where
x.xx is the oscillator reference voltage

RVH<CR>
Read Voltage H (Oscillator control) 

Response
RVHx.xx<CR><LF>


Where
x.xx is the oscillator control voltage

RVI<CR>
Read Voltage I (Rubidium crystal) 

Response
RVIxx.x<CR><LF>


Where
xx.x is the rubidium crystal voltage

N.B. When a rubidium oscillator is not fitted the response is replaced by ER3<CR><LF>

RVJ<CR>
Read Voltage J (Rubidium lamp) 

Response
RVJxx.x<CR><LF>


Where
xx.x is the rubidium lamp voltage

N.B. When a rubidium oscillator is not fitted the response is replaced by ER3<CR><LF>

SADabcd<CR>



Set Alarm Delays



Response
SADabcd<CR><LF>

Where
abcd (4 digit hexadecimal) represent the alarm delays as described for the RAD command above

The delay settings are stored in non-volatile memory.

SCBaaaaaa<CR>


Set Control Bits



Response
SCBaaaaaa <CR><LF>

Where
aaaaaa (6 digit hexadecimal) are the control bits inserted into the IRIG timecode as described for the RCB command above

The control bits are set to zero when the unit is reset

SDSmsddmmyyyyeennzzzz<CR>
Set Daylight Saving Time



Response
SDSmsddmmyyyyeennzzzz <CR><LF>

Where
msddmmyyyyeennzzzz represents the daylight saving (summer) time parameters as described for the RDS command above. When setting the mode to off or automatic, valid dates must be entered although these will not be used.

The daylight saving parameters are stored in non-volatile memory

SEOa<CR>



Set Event Origin



Response
SEOa <CR><LF>

Where
a is a hexadecimal number with bit assignments as described for the REO command above

The event origin is stored in non-volatile memory

SFDa<CR>



Set Frequency Divisor



Response
SFDa <CR><LF>

Where
a is a hexadecimal number with bit assignments as described for the RFD command above

N.B. When the synthesiser option is fitted, this frequency output is used internally and is preset.to 4 (1MHz) thus any SFDa command will elicit an ER3 error response.

The frequency divisor is stored in non-volatile memory

SFMa<CR>



Set Fault Mask



Response
SFMa<CR><LF>

Where
a is a hexadecimal number with bit assignments as described for the RFM command above

The fault mask is stored in non-volatile memory

SGMa<CR>



Set GPS Mode



Response
SGMa<CR><LF>

Where
a is a hexadecimal number with bit assignments as described for the RGM command above

The gps mode is stored in non-volatile memory

SGTa<CR>



Set GPS Time Inhibit



Response
SGTa<CR><LF>

Where
a = 1 Inhibit GPS time updates (allow SUT command when GPS on)


a = 0 Enable GPS time updates

N.B. The state of this bit can be read via the RCM command 

This bit is set to zero when the unit is reset

SGWwwww<CR>


Set Week Number



Response
SGWwwww<CR><LF>

Where
wwww (4 digit hexadecimal 0000 to 1FFF) represent the GPS week number as described for the RGW command above

SLSyyyymmddnnm<CR>

Set Leap Seconds



Response
SLSyyyymmddnnm <CR><LF>

Where
yyyy is the year of the leap second event


mm is the month (01 or 07)


dd is the day of month (01 only)


nn is the offset from GPS time (hexadecimal)


m = Mode – 0 = ITU (59,60) ; 1 = non ITU (59,59)

N.B. restrictions apply to the date set via this command and it will be overwritten by the GPS received data

Only the mode is stored in non-volatile memory

SOVvvvv<CR>



Set Oscillator Voltage



Response
SOVvvvv <CR><LF>

Where
vvvv (4 digit hexadecimal) is the DAC value which sets the oscillator voltage and thus controls the oscillator frequency. This value is automatically adjusted when the GPS receiver is operating.

N. B. In order for this command to be executed, either the GPS receiver must be inoperative OR the GPS correction must be inhibited via the SVL command above. If the command is not accepted then and ER3 response is given.

The oscillator voltage is stored in non-volatile memory

SPCab<CR>



Set ppS Configuration



Response
SPCab <CR><LF>

Where
ab is a hexadecimal number with bit assignments as described for the RPC command above

The ppS configuration is stored in non-volatile memory

SPLa<CR>



Set Panel Lock



Response
SPLa<CR><LF>

Where
a = 1 - Lock panel (disable setting from the front panel switches)


a = 0 – Unlock panel (enable setting from the front panel)

N.B. The state of this bit can be read via the RCM command 

This bit is set to zero when the unit is reset

SRDa<CR>



Set Remote Display Configuration



Response
SRDa<CR><LF>

Where
a is a hexadecimal number with bit assignments as described for the RRD command above

The remote display configuration is stored in non-volatile memory

SS1abc<CR>



Set Serial 1 Configuration



Response
SS1abc<CR><LF>

Where
abc is a hexadecimal number with bit assignments as described for the RS1 command above

N.B. When changing the configuration for the port that issued the command, the response will be sent in the original configuration and the settings will not be changed until the interface is inactive. So to ensure that the command is implemented, a short period of inactivity should be allowed for after the receipt of the command response.

The serial 1 configuration is stored in non-volatile memory

SS2abc<CR>



Set Serial 2 Configuration



Response
SS2abc<CR><LF>

Where
abc is a hexadecimal number with bit assignments as described for the RS1 command above

N.B. When changing the configuration for the port that issued the command, the response will be sent in the original configuration and the settings will not be changed until the interface is inactive. So to ensure that the command is implemented, a short period of inactivity should be allowed for after the receipt of the command response.

The serial 2 configuration is stored in non-volatile memory

SSFaaaaaaaaaa<CR>


Set Synthesiser Frequency



Response
SSFaaaaaaaaaa <CR><LF>

Where
aaaaaaaaaa is a 10 digit decimal number representing the current synthesiser frequency with a resolution of .01 Hz.

N.B. The data entry is limited in the range 0000000000 to 1299999999. With standard filter settings in the synthesiser module, the frequency range is limited to 11MHz +1-3dBm (13MHz +1/-6dBm)

The synthesiser frequency is stored in non-volatile memory

STCa<CR>



Set Timecode Configuration



Response
STCa<CR><LF>

Where
a is a hexadecimal number with bit assignments as described for the RTC command above

The timecode configuration is stored in non-volatile memory

STDaa<CR>



Set Timing Delay



Response
STDaa<CR><LF>

Where
aa is a hexadecimal number representing the timing delay parameter as described for the RTD command above

The timing delay is stored in non-volatile memory

STZshhmm<CR>


Set Time Zone (Local Offset)



Response
STZshhmm <CR><LF>

Where
shhmm represents the time zone offset as described for the RTZ command above

The time zone offset is stored in non-volatile memory

SUTyyyymmddwhhmmss<CR>

Set UTC Time



Response
SUTyyyymmddwhhmmss <CR><LF>

Where
yyyymmddwhhmmss is the date and time to be set. The data structure is the same as described for the RLT command above.

N. B. In order for this command to be executed, either the GPS receiver must be inoperative OR the GPS time update must be inhibited via the SGT command above. If the command is not accepted then and ER3 response is given.

SVLa<CR>



Set Voltage Lock



Response
SVLa <CR><LF>

Where
a = 1 Lock the control voltage (disable frequency corrections from GPS)


a = 0 Normal (frequency corrections from GPS enabled)

N.B. The state of this bit can be read via the RCM command 

This bit is set to zero when the unit is reset

Wabcdef<CR>

Wrap interface test command

Response
abcdef<CR><LF>

Where
abcdef is an alphanumeric string


This command echoes the input data omitting the leading W character

?


Change interface mode




Response 
NONE

This command changes the mode of the interface from stream to remote or vice-versa. This command does not affect the other port : Changes to the other port configuration can be made via the SS1 or SS2 command as above.

#


Serial Event

Response
NONE

This command will cause a serial event that will be recorded when the serial event mode is selected (see SEO and REO commands above). This character can occur at any time and is ignored by the command interpreter.

@B<CR>

Read LPFRS bias

Response
@Baa<CR><LF>

Where aa is a 2 digit hexadecimal number denoting the current bias set in the LPFRS oscillator

The value (0 to 255) represents the bias in 1x10-9 units with the nominal value of 80H (128) for 0 offset.

This command will give the error response ER3 if an LPFRS oscillator is not fitted.

@Baa<CR>

Set LPFRS bias

Response
@Baa<CR><LF>


Where
aa is the bias to be set in the LPFRS oscillator

This command will give the error response ER3 if an LPFRS oscillator is not fitted or if GPS control is active.

N. B. This command will cause large frequency changes in the oscillator and should only be used for test and calibration purposes.

@G<CR>

Reset GPS receiver

Response
@G<CR><LF>

This command will re initialise the GPS receiver. This may be necessary after a prolonged period of operation without an antenna and avoids having to reset the 2804

@H<CR>

Read Hardware configuration

Response
@Habccdddd<CR><LF>


Where
a = 3 – Rubidium Oscillator Type LPFRS



a = 2 – Rubidium Oscillator Type LPRO



a = 1 – Crystal Oscillator Type 760/660



a = 0 – Crystal Oscillator Type 360



b bit 3 = 0 – Not used



b bit 2 = Timecode 1 type – 0 = IRIG/XR3 ; 1 = SMPTE



b bit 1 = Synthesiser – 0 = Not fitted ; 1 = Fitted



b bit 0 = DC Support Voltage – 0 = 24V ; 1 = 12V



cc is the control loop gain (2 digit hexadecimal) 



dddd is the 4 digit alphanumeric string denoting the unit type

@Habccdddd<CR>

Set Hardware configuration

Response
@Habccdddd<CR><LF>

Where
abccdddd are as described above for the read command. Any alteration to these parameters can seriously affect the operation of the unit.

@T<CR>

Start tests

Response
NONE

This command enables the display test, which is performed at power up, to be repeated. The result of the test can be read using the RCM command as detailed above.

This command also turns on the alarms for a period of 10 seconds.

@Z<CR>

Reset

Response
NONE
This command performs a software reset on the unit. No response to the command is generated. No commands should be sent to the unit for a period of 2 seconds following a system reset to allow for initialisation.
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